5.1 Notes

Triangle Problems: The Return
- You must know SOHCAHTOA
- You must know which side of the triangle will be negative based on which trig
function is negative

Ex Let cos 6 = 14—3 and csc 6 < O Find the values of each of the follovvmg
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Notes about triangle problems: 3
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How to find the quadrant a certain trig function is in:

1. Get the trig function in terms of sin § or cos 8
2. Find out where each trig function is positive or negative

3. Find where the two overlap in a quadrant . = Z
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Simplifying using factoring
- Be on the lookout for difference of squares, GCF and AC methods factormg
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5.1 Notes

Simplifying using factoring AND fundamental identities
- .Know your identities! .
o Look to get things in terms of sin 6 or cos 8, or of the other side of the
equahon
Ty R A Use Pythagorean 1dent1t1es to help substltute for- expressmns :
- IMPORTANT: You cannot perform equivalent operations to both sides of a >

trig identity 11ke you could in solving an equation W\/\ [O‘)
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Verifying alqebraicallv
- Use the same methods as you would with simplification
-  IMPORTANT: You cannot perform equivalent operations to both sidesofa

trig identity like you could in solving an equation (i.e. you can’t cross the =

sign) \,//WJ ; W

Ex. Verify al_gebza%cally in the vertical format
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Trigonometric Substitution
1. Plug the value in for x
2. Simplify using trigonometric identities

Ex. Use trigonometric substitutio ite the algebraic expression as a tng function
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